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An article is sold at 3,520 at a loss of 12%. At what price should it b

sold to earn a profit of 18%?
T TET 12% T BT & 3,520 TOF | o=t AT 81 18% RT ATH ST ol

o foTg 38 fohr Io o ST ST =i e?

a) 4,500
b) %5,620
c) 4,720
d) %4,620
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The average of 9 observations was 10, with that of the first 5 being 11
and that of the last S being 8. What was the Sth observation?

9 ETUTE ShT 3T 10 T, F/TOH Uget 5 T T 11 3T 3w 5 1 9T 8
oAT| UTeral SR T T2

a) 35
b) 6
c) 4
d) 7
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The present average age of A, B and C is 60 years and that of B and C

is 50 years. What is A's present age?

A, B 3R C T TAHT 3T8A 31T 60 TW & 74T B 3R C 6l qaqw ied
AT 50 I §1 A ST TAHTH AT T 52

a) 80 years
b) 60 years
c) 75 years
d) 45 years
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A shop announced a discount of 25% on trousers. Umesh went to the
shop. He wanted to save 500 in discount. How many trousers should he

buy to do so, if each trouser costs ¥250 ?

Teh ST o UeTd W 25% chl PE hi TITUTT <hT §| SHIT geh (A TR T 2| T8
T H 500 U TATHT ATEAT AT| TAT LA o 17 I8 Tehe=T urel @rite-t
TR, AT Tedeh TAcT ol e 250 T 32
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A sum of money at simple interest amounts to 650 in 3 years and to

¥754 in 4 years. The sum is:
TTLTIUT ST YT Uk 19T 3 A1 | 650 FAA 3T 4 AT H 754 TUA BT ATAT 2|

T E:

a) 308

| b) 318
e ST A
Q\?« LL) /> c) %388

S d) %338
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If 20 men can complete a work in 48 days, then how many men should

be employed to complete the same work in 40 days?

afy 20 zafw forelt et oY 48 3T § oxT St Trendt &, Y 3% @ oy 40 foAt
H O oA o To1Q feha safwar st g e st anfze?

a) 28
b) 24
c) 22
d) 26
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The ratio of two numbers is 2 : 5. If 7 is subtracted from each, the ratio

of new numbers will be 13 : 43. Find the smallest number.

T HGATSY T STTUTA 2 : 5 7 ATS wedeh § & 7 wev o e, v 78
HTHATAT 6T AT 13 : 43 BT AT AGH BT WEAT AT hI10)

a) 20
b) 30
c) 10
d) 15
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A machine X can produce 1000 bolts in 4 hours and another machine Y
can produce 1000 bolts in 12 hours. In how many hours can machines X

and Y, working together at their respective constant rates, produce
1000 bolts?

Teh A9 X, 4 € W 1000 TS hT IcATE shY Tehd ! g I A A Y, 12
e H 1000 T hT IcATE o Tehdl gl AT X AR Y ATAT-39T fRer
S UX Ueh {1 I T TU Tehe € H 1000 T T IUTE T Tehdl 87

a) 3
o) I
c) 6
d) 4
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If a 9-digit number 5y97405x2 is divisible by 72, then the value of (x -

2y), for the greatest value of x, is:

I Ueh 9-3T<hIT GEAT 5y97405x2, 72 & fI9=T 7, 7 x o @ 9 A1 6
'%l'@: (x-2y) GT[‘TF[%

1l

Ytn

3,
NSRS
O B~ o0 =
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Simplify the following expression.

273 x4+4+20f2

21/8
37

61/4
11/8
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If the sides of a triangle are 8 cm, 8 cm and 12 ¢cm, then what is the area
of the triangle?

AT Teh TVt ShT W10 § T, 8 |HY 3 12 AT &, A1 Byt &t e
FITR?

) 12\7em?
b) 64 cm’

( 2 > c) 19 cm?
B ¢ \o - /“\

d) 34 cm?
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When walking at 6/7 of his usual speed, a man is 10 minutes late. What
is the usual time taken by him to cover that distance?

T AT i 6T 6/7 & =T W Tk =4t 10 fome off 9 ugerar 21 3@
Tt <Rl T T H IHeh TR o727 74T AHT THI T 82

a) 72 min
b) 1 hour
c) 1 hour 15 min

d) 120 min
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